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1. Answer the following questions (any ten) :
1x10=10
<7 oA e ol (R e )

(a) What is a standard normal variate?

syreef et Rea 6 2
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(2)

(b) When do we use F-test?

mF'W @ﬁmww?

() What is meant by scaling?

’iﬁsﬂﬁﬂﬁlﬁﬁm?

(d) When does speé’iﬁcaﬁon error arise?
e

R Resa & @l e o9

(e} If the error term is not
normally with ¢ 2 varianc
problem may arise?

distributed
€ what type of

aﬁ@%mmﬂmﬁmﬁmwc

TR ST G T oy ? fowem

72
Why ar

y are there two Tegression lines?

es
TOF ST 91 Ry azes o
(9) is adj
What is adjusted R??
e R2 f
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()

0)

(k)

(@)

(m)

22A/1121

(3)

When does type-1l error occur?

BiRoIl Si6 (Ffou Ted 2 ?

Why do we add a random term in a
linear regression model?

vl P S @b @b A @O fo
FRNA?

What is meant by degrees of freedom?
Fogor T@ e & @

If EU,U;) #0, which problem does arise
in a linear regression model

YI =C(.+B.Xt +Ut?

<51 2aRS SEEET @41 Y, = o+ PX, +U© T
E({U,U]) #0 =, (S='CA 6 00 Tea =1 ?

What is the relation between correlation
and regression coefficients?

WWWWH@W@W%?

What is critical region?

b7 e 5 2
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(n) State the

(o)

(4)

expression for

normal

distribution.
TR SO IS T 91 29 9

:/;hat is the difference between

m of square and explanat ity
P ory sum of
@b IR Ao AR

TS “q12i oy | R Qe

2.
Answer any five of the following questi
ons :

TS \sﬁmﬁmo‘ﬁmmmm 2x5=10
(a) Writ :
. g : two uses of
t distribution, Student’s

(b)

(c)

(d

22A/1121

1 T oy
a2s 3 |

e S i
e ¥ ORI @Y s ety

( Continued )

(e)

(9)

(h)

3. Answer any four of the following questions :
5x4=20

(5)

Distinguish between multicollinearity
and autocorrelation.

TR I TR S N fan
Write two assumptions of F-test.
-~ o1 SR ford |

What are errors in variables?

serea ooz 3 7 ‘

Give two reasons for arising multi-

collinearity problem.

Wﬁﬂw%@amfwwqﬁw

oo R G BfRo! epd e ford

(a)

(b)

(c)

22A/1121

Explain diagrammatically the area
property of normal distribution.

| R 35 ST CARECeT o SRS SCEnl
A0
What are the properties of a good
estimator? Explain.

<51 Ty SRR CAFEPTR T

Explain the assumptions regarding the
stochastic term of the linear regression
mOdel Yt =0 +BXt +Ut'

Y, = +pX; +U; e TEEd SRS &
oCB SSYRTCIR I 41 |
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(6) (7)

(d) Explain the

. conc

interval. ept of confidence 4. Answer any four of the following questions :

ECIECt ' 10x4=40
ST AREMCBR e 354 | s o R et B! ere Ted ford

(e)

(@) Whatisa normal distribution? What are
its usefulness? Assume that family
incomes are normally distributed with

WA gos - SIS w=1600 and © -=200. What is the
R LR ¥ probability that a family picked up at
random will have income (i) between

1500 and 1800, (1) below 1500 and

hat is a d v W
-W ummy varigh] a
mpo i ; €? What is i
portance in statistical inferen i ;s -
cer

2+3=5

(f) Distinguish between

ioi 2 indivi
Joint functional f, dividual and (iii) above 20007
model ol e :
: gression (0<Z <1=0-3413),
TR WS s (0<Z <0:5)=0-1915] 2+2+6=10
g 3 g e 95 oo e R L R e
o 2 fRafe WH p=1600 =€ 6 =200
s BOW the omisgion of | T RISRE el () WH 1500 S
cr €levant i G
regression ang] -eate 4 problem ; S Ay e
. YSis. i @ (i) 20009 €7F® SR M BCIES)
CRTS  aipifis Sfered |
CICEETY befs
‘TWH@@’WWW IS [0<Z<1=0-3413),
) T ' (0<Z<0-5=0-1915|
g at are the method
eterosCed i ods of
them. Asticily? Explain an(;EtteCtmg
wo of
R o e (b) Distinguish between null hypothesis
T 1 i "F«?f\:m[q B R R and alternative hypothesis. When do we
=y ; use chi-square distribution? A random

22A/1121
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(8)

sample of 5 students fi

i rom a class

s zgegrgarks Scored by them ‘:i:

Obsew;itio;l and 80. Are these sample

e 37 (c):gnﬁrm that the cl:fss

A I : [’I.‘abulated value of
Sponding tq (n-1) d f.] i

2+3+5=10

=11 Chisf fregq @ém e {15
M 7w

g e —

(e)

(9)

In a three-variable linear regression
model Y; =Bo +B1 Xy +B2Xo +Us,

estimate the parameters Bg, By, Ba- 10

G5 R v SERRT Q¥R AmeER
Tferedl 'S e @LEEH
Y, =B +B1 X1t +BoX o + U B, By By

Ao = |

A production manager is trying to

GJBT Cﬂ%ﬁ 5
R
¥ 80 7, 3 3 80, 40, 50 90 estimate the contribution of labours and
W- 2 R 2Nag i, hines to output. Consider the
[(n “’1) d.f / g by 1;‘I::;':essior; model 4
% 3 Mo

(C} State and ; ﬁmmt:Q’?S‘] Y:BO +BIX1 +B‘2X2 +U
for B e GauSS'MaJ‘ko Compute the least square estimates
Y. =B 1+BmX  ce Tegr essiov Heorem including interrupt term from the
par an;)eterls iy Where B a;ld g sl following observations :
Y, = and Ut iS StOCh s Bl are M hines (X

t =By 81X, +U o astic term Output (Y)  Labours (X;) Machn (Xo)
TI-ATS S 2 T @MW e o 40 46 24
S B, 2iroet e sy Sk 42 60 15
1 [ | % g

(d) How ¢ 0 o 2 37 54 12
regre:(s). Mmeasure the Stand 50 50 50
forecast; of h}‘potheSis t pk.ﬂn the Apply the least square method to
TS T €Sting  anqg estimate the parameters. 10

R
’%ﬁmm S & B AT W WE ARE TAER
et TR e Beofe R R TF IR | 9B TR
22A/1123
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(11 )

() Explain how specification error may
arise if irrelevant variable is included in

ey ofq
“ifeg
a linear regression model. Explain the
consequences of specification error.
4+6=10

397
@Qvﬂtfq (Y
)
40 ﬂTXIJ 3 (X,)
6
42 24
37 ;‘: ¥ R o ARl RoR Re @ @O
50 2 - Teq 7 7 G Fib ASITIR ST P4 |
36
S0
ﬁm 42
(9) Wh ¥ L Wﬁmﬁmé; e
at ar 8
correlatjol-lep ﬂD'le SOurceg £ ki
D test. escribe Dul"biz waum_
?’{[o # atSOn
D v gy TR B B #+6=10
) TR O e
Explain
colli -the Conse
Rearity, Qences ¢
T—;ﬁ; multi-
(. 3 m W‘Kaﬂﬁﬂ]’ ; 10
[)
) é‘lsct)?v Can heterOSCed ¥
1m >
ation? Heo astiej affe
eterosceqqgas: Would Ct OLS
of the i astic e £ Correct fo
€terosceq ici t; f the naty
k-rIOW =
n?
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